HEAAKE 2 $FASUMGeE RN ESTRHEA) . 2

b -]

RIDAT D KR, L VREER X
— (AR (B i b5 B IRE » A (E 5 F Rz 265)

istinguish among the terms lost cost and utilized cost. Give examples
of each.

2. Distinguish between quantitative and qualitative factors in decision maker.

3. How do feedback control systems in business operate to promote operational
efficiency and encourage adherence to managerial policies?
Explain the relationships between standard cost systems and feedback
control systems.

4. Why is it important to draw a clear distinction between manufacturing
cost and selling expenses? Would the same importance attach to a
distinction between direct product costs and indirect product costs?

5. Give examples of the influence of managerial policy and decisions on
cost behavior. How can a change in managerial decision alter a cost
_behavior pattern?
25%
— The Sunrise Company uses a budgeted total overhead rate of $40 per unit
based on a denominator volume of 60,000 units a year, or 5,000 units a month,
During October, the company produced 5,200 units and experienced the
following combined overhead variances:

Overhead flexible-budget variance $2,500 unfavorable
Overhead production volume variance $5,000 favorable

During November, production was 4,900 units and the actual overhead cost
incurred was $2,000 less than October's overhead.
REQUIRED:
1. Determine the overhead flexible-budget variance for the month of November.
2. Determine the overhead production volume variance for the month of
November. .

— The Earth Company.sold 180,000 units of its product at $20 per unit
* in 1992, Variable costs are $14 per unit(manufacturing of $11 and selling
of $3). Fixed costs are incurred uniformly throughout the year and amount
to $792,000(manufacturing of $500,000 and selling and administrative of
$292,000). Standard capacity is 200,000 units per year.

REQUIRED:
1. Determine the following according to cost-volume-profit analysis:
(1) income. for 1992
(2) breakeven point in units
(3) number of unit that must be sold to earn an income of $60,000
per year before income taxes
(4) number of units that must be sold to earn an after-tax income
of $90,000 if the income tax rate is 40 percent
(S5) approximate number of units that must be sold to break even
(before income taxes) if payroll costs are 50 percent of variable
costs and 20 percent of fixed costs and wages and salaries are
increased by 10 percent _
2. Determine the net income.for 1992 under absorption costing if 190,000
units were produced in 1992,
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